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[ 210
ST Uy U=~ ' 5. This guestion booklet is divided
s < Ha— Sk into two sections — Section-A
Uq WS-l and Section-B.
6. @vs-r ¥ 100 FEITS AT & O Taa S!'::“"::‘* ”‘;:‘: oo
Foerer S . objecti type ons,
if =g E:T -' out of which any 50 gquestions
T SAfrard &1 gEre d HEE are to be answered. Firsi
vl @& 367 99 9T H¥H 50 3’ 50 answers will be evaluated in
&7 8 GogiewT fHar Smei 99% case more than 50 questions are
gvT & foe 1 3w Frifa &1 gt answered. Each question carries
e 3 3 1 mark. For answering these
& 3 T O : darken the circle with blue /
FTY 9AF H k9 T T fahed & black ball pen against  the
FHiet / &I @TeT 97 /@ TE FV ) correct option on OMR Answer
ferdt o1 www &F o e L sheet provided to you. Do not use
Jver STt / ow=E /S T s whitener / liquid / blade / nail
FT O F ; etc. on OMR-sheet, otherwise
MR 3TT-gieTe : SR the result will be treated
FIAT FAT &, =T w¥iA invalid.
9o 3|7 BT _
7 TFUZ-a }f 30 E;rg' 3?!??'\'—'?' gy g; In Section-B, there are 30 short
g o f%?%? 15 gvaF &7 IHT answer type questions, out of
which any 15 gquestions are to
g7 AfHard &1 uds v & g ;
; 3 ? be answered. FEach gquestion
2 A= 7RG g.! ARk Eii:i]i-iii, 9 carries 2 marks. Apart from
TFvs 4§ 8 14 3'???;??_ oy g 73 these, there are 8 long answer
& 749 @ =T 4 9v=t &1 397 type questions, out of which any
éﬂlT g1 g vE & fow 3 questions are to be
G . answered. Each estion carries
5 3 FEiRe &1 e
5 marks.
B. fpdl W & goiagitie 39or &1 8- Use of any electronic appliances i«
T guiaar g &1 strictly prohibited.
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W|US - 31 / SECTION - A
SRS UIT / Objective Type Questions

TV §EET 1§ 100 7% & gy & @y 9 e 7y 1 & fd 4 v a@et

&1 fr=t 50 gyt 3 IT wuA FRT g MG @ fFeT F OMR e T
: %%Hﬂf ) A ' 50 x 1 =50
.Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMPR-Sheet. 50x1=50

1 ﬁv@aﬁﬁmﬁfﬁwwﬁﬁ%qﬁaﬁaﬁmﬁwaﬁaﬁaﬁmﬁ

2+ 3| IR I HETEEl ST 3TUE &

(A) 4:7 - (B) 3:5
(C) S (e 5:9

The ratio of the volumes of two cones is 4 : 5 and the ratio of their

base radii is 2 : 3. The ratio of their vertical heights is
(A) 4.7 (B) 39

() o 5 D)  5:9

2, ﬁﬁ:ﬂﬂ?ﬂ?sﬁaﬁaﬂnﬁu‘qﬁ—sna‘r,a}mnﬁaﬁﬁ{%

e T L EH

(A) 3 . (B) -3
- (C) 4 ; (D) S
2131-(44/50) |
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If the n th term of an AP be 5 — 3n then its common difference is
(A) 3 : (B) -3

(0] S (D) 5

%ﬁﬁaﬁ%wﬁéﬁﬁaﬁ&?ﬁwims},(o,maﬁ{5,5}%1@%

S5 & oI B0
() o ® (1,3)
©  (4,4) BT (3

The coordinates of the vertices of a triangle are ( 4, 6 ), (0,4 ) and

(S, 5). The coordinates of its centroid will be
(4) (5,2) . (B) (1,3)

(SR, <) (D)  (3,5)

T SO T T TS T AITheT 264 H2 GO TS S 024 WO
THS A R FAE & U &

Al 5 ® 7:6

(C} 4:5 (D) AT 3

The curved surface area of a cylinder is 264 m? :.aind its volume is
924 m*, The ratio of its diameter to its height is

(A) Sk : (BY & 7E6

(Cloteds b (D)L R T7h 3
2131 -(44/50) ] - Page 4 of 48
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E [210]

54 Qﬁ:"ﬁﬂ-_ﬁf&ﬁ{@b},{b,c}ﬁ?{c,a]ﬁﬁ%ﬂammqﬁﬁﬁﬁﬁ
a4+ b3 4 ® T &

Ay 9 (B) abc
(C)  3abe RN atkbtc

If the centroid of the tri:a:ngle formed by the points ( a, b ), ( b, ¢) and

5

(¢, a) is the origin then a® + b3 +¢” is equal to
{A) SO (B)  abc
(C) 3abc (D) a+b+c

9 fedt Brgst & 3iet & fAgenis (0,4 ), (0,0) T (3, 0) &, d B

=T &AFA
: B 53 (B) 6
(C) 9 (D) 12

If the coordinates of the vertices of a triangle are (0,4 ), (0, 0 ) and
(3, 0), then the area of the triangle is
(A) 3 (B) 6

©c 9 | (D) {802

2131-(44/50) Page 5 of 48
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ﬁmﬁ\gvﬁaﬂgﬁnﬁwqugﬁtﬁ%%ﬁtﬁaﬁm%

&

(A) 253 (B) 4:9

(C) 81: 16 (D) 16 ;: 81
-

The ratio of the sides of two similar triangles is 4 : 9. The ratio of

their areas will be
(A) 2:3 (B) 4:9

(C) 81: 16 (D) 16: 81

aﬁmcaﬁTauEFW%Hch=4ﬁtﬁ, EF = 5 U8t @r

AABC 1 &% 80 UH” ¥, 99 ADEF T &% &
(A) 100 94 (B) 125 9H®
() 150 THPP (D) 200 |2

If AABC and ADEF are similar and BC = 4 cm, EF = 5 em and the area

of AABC is 80 cm?, then the area of ADEF is

(A) 100 cm” (B3) 125 em*
(C) 150 cm? (D) 200 cm?
2131 (44,50 Page 6 of 48
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10.

11.

S(Cle 42 cm

af el a1 i Bron 14 Qe @, dl 9 1 &FHE B

[ 210 ]

il .
(A) 154 9H7 @) 2319
(©) 616 |HI® (D) 516 WHI
If the radius of a circle is 14 ¢m, then the area of the circle is
(A) 154 cm? (B) 231 cm?
(C) 616 cm? (D) 516 cm?

aﬁ%ﬁwﬁﬁmu@ﬁﬁ.a’r@ﬁqﬁﬁ@ﬁ

(A~ 44T . @ ss¥A
() 42 9H (D) 616 |

If the radius of a circle is 14 cm,

B

(B) . 88cm

circle is
(A) 44 cm
(D) 616 cm

then the circumference of the

0-49 i gmﬁﬁa@wm%(sﬁrgq quiish § g #0)

49 49

(ATE ) ‘5o
49

)22 o)1 e

[2131-44/50)
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0-49 can be expressed in the

integers g # 0 ) as

form £
o

[210 ]

(where p, 4 &€ ;

@ 156 ® 5
o | Wy
12, Frefefag 8 @ @i eaiag e E 2
(a) J49 B) 36
(Ch 2T : (D)o A6
J""‘..F-r.- ‘
Which of the following is an irrational number ?
A) J49 B) 36
(CROE OF Doy J16
13. =898 10x-25 I IS
5 s
(A GRS,
© = ® >
The zero of the polynomial 10x — 25 is
A 2 ® -2
(e ® 2
{ 213 1-(aa/50)
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14.

154

16.

-

g9 3x2 +8x+ 10 F T &

{A) 3l ‘/{B}fz

<) -8 (D) 10

The degree of the polynomial 3x2 + 8x+ 10 is

(A) 3 (B} &
(C) 8 (D) 10

frefefas 9 & == o adtsom & 2

(A) x2+4fx+4=0 (B) (x2 +Jdx ) x+dx)=5
(C) (x+1)2 +x* =0 (D) (x+1)> =11

>

Which of the following is a quadratic equation ?

(A) x2+4fx+4=0 {B) {x2+J;]{x+JJ_c}=5
) (x+1P+x2=0 D) (x+1> =11

afg p e g FYE AW £ A pog AR prq F HoWo &N

GF- pa D) pg

2131—;@!50: | Page 9 of 48
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[210]
If'p, gare prime numbers then the H.C.F. of p°g and pgq is
A U B e
(CHREE 2 o8 (D)

157 sin{9l0°—ﬂ}—'0039=

(A) sin (B) tan 8

I

A a=2%x3, b=2x3, c=3"x5 TA ( q b, c ) H L.C.M.

(eI

18.

2% x32 x5 @ n=

A 1 Ll

< =2 o) 4

If a=22x3, b=2x3, ¢c=3"%5 and L.C.M. of (a, b, ¢) = 23 x32 x5,

then n =

@ 1 ® 3
©) 2 (D)) 4

Jo. < i T 3445 @ 3— /5 T U & TH

{A}_' aiHT HE&AT (B) . = T

© @I @IA D) T W FE T

| 2131-(4a/50)
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21.

[ 210
The product of two irrational numbers 3 +4/5 and 3 -5 is afan.

(A) rational number (B) irrational number

(C) both (A) and (B) (D) none of these
fgerd 898 x2 +4x-12 & W%

(A) 2,5 B) =2,5
(ClF 26 : () e2 6
The zeroes of the quadratic polynomial x= +4x—12 are

(a) + 2,5 B =25

) 2,-6 D) 2,6

HA S =k Q1 SeAd1 % SFAA DT A 4 : 9 T 36 T TSI F

&A1 STITT &I

{E;] 5.3 ' (B) 4:9
(C) 16 : 81 (D) 1 =3
.."/

The ratio of the volumes of two cylinders of equal height is 4 : 9. The

ratio of the areas of their curved surfaces will be
(A) el (B) 4:9

(C) 16 : 81 (D) 153

2131-(44/50). Page 11 of 48
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24.

[210 ]

uﬁ@%aﬁ?wéﬁ?ﬁ?mﬁ?mmﬂﬁ,?ﬁﬁ AT T

ST T B 2
(A) B3 . (B) i
(C) 3 (D) o 12

If the diameter and the height of a cone and a cylinder be equal, then

what will be the ratio of their volumes 2
(A 2 Sl (B) =3
(C) 3:4 (D) o)

tan45° — tan 30° _
1+ tan45°.tan30? '

J3-1 J3+1
&) J3+1 5) J3 =0
(©) j%— o] 1

afs RSt A(x 2), B(-3,—4) T C(7,-5) W@ &, d x 1 HH ¢

(A= 63 : (B) —60

(©) 63 - (D) T | HE T

Iffhepnints‘ﬁ{xrz]-B[__3:‘4]3-ndcl7,—5]arecn]linear then

the value of x is
{A)ElEE s (B) -60

(C) 63 (D) none of these

215 1-t44/80) " Page 12 of 48
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25. W% s oaB E% Y 4 (g, 0), O(0 ,0) X B (0, b) &, =
&=t (97 gehe H) &

—

| (4)  ab ® Lab

N

& 1

G S ® i»

f The area of triangle OAB with vertices A (@, 0 ), O ( 0 ,0 ) and
"I
g \ B (0, b) (in square units) is

(A) ab (B) El-ab
© a2 D) 5b

26. Als {95 (4, a) W@ 2x -3y = 5 9T A &, a1 a 7 T B80T
(A) 1 ' (B)gn -1
1
© 3 D) =
If the point ( 4, a) lies on the line 2x—3y = 5, then the value of a is

(A) 1 : (B) =

(€ 3 o 2
27. x?-2x-3=079 x?-8x+15=0 H IVITS T &

(A) | 5 B) 3

(C) -3 . (Bl <=5
..-"""'

| 2131-(44/50) Page 13 of 48
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[210]
Common rootin x2 —2x-3=0 and x2 -8x+15=0 is
(A) 5 (B) 3
(C) -3 (D) -9

Rt o % W Prg P ¥ D Wt Y@ pa wH pp wRh T o

PA = 5 Ht, 1 PB hl w=s B0l

(A) 10 9=l (B) 53

(C) 15 9Hl (D) =9 9§ =i A8l
PA and PB are two tangents drawn from an external point P to a

circle. If PA = 5 cm, then the length of PBis

(A) 10 cm (B) S5ecm

(C) 15 cm (D) none of these

fhdl THFR 2@ 1 gEU UZ 13 X THHI 5 a1 9% 25 &\ TEE

e AT g
(Al o B) 3
(C) 4 (D) S

The second term of an A.P. is 13 and its 5th term is 25. Its common
difference is
(A) 2 (B) 3

<) 4 D) S

LQ 131-144;50|1 Page 14 of 48
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' [210]

30. 13 #AR 17 h1 99T A &
(A) 13 (B) 15
(o (D) TH ¥ HIs AR

The arithmetic mean of 13 and 17 is
(A) 13 (B) 15

(C) 17 (D) None of these

31. 3fs fHEr BHT 9898 p(x)=6x2 -7x-3 & AF o,B B, Al a+p=

~7 i
i (BRI

(D)

b=

(C)

W=

If a,B are the zeroes of any quadratic polynomial p(x)= 6x= —Tx— 5

then a+3= -
Ay z ® -Z
© = @ 1

32. Afg 9gUS x? +ax+b ¥ YT SRR W= ada o % g, aw o -

(Al 1 iEj) uit

€ o (D) b

213 1—[44,{50; Page 15 of 48
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If zeroes of the polynomial x? +ax+ b are equal but of opposite sign,

then a =
(A) 1 ' (B) -1
€ o (D) b

33. Trtafed & & @ fFEe wgus ¥ s s 0 3R 5 ¥ 2

(A)' x2+5x+5 (B) x*-5x
(€ x*+5x ; })} x% -5
Which of the following is a quadratic polynomial whose zeroes are
Oand 5 ?
(A) - x° +5x+5 : (B) X 5x
(€) x2+5x (D) x2-5
34. a % HH ’1‘?&1% ToT0 THIHI0T T ax+10y =9, 2x+Sy =11 =1 5%

A T8l &, &
@ ®) -2
T i D) 4

The value of a for which the system of equations ax+10y =9,

2x+ 5y =11 has no solution is

(A) IR R (B) o

(c) A4 (VRS

[2131-44/50) Page 16 of 48




36.

2x% +5x—12=0 1 UH ToA &

(A4 0 | By 1
c -4 ' _ D) ~ 4
One root of 2x% +5x—12=0 is

(A) 0 . (B) 1

). -4 : (D) 4

FHIEOT 3/3x2 +10x+3 =0 Hfﬁéﬁaw%

). A - (B) 54

(C) 64 (D) 74

[210]

The discriminant of the equation 3v3x% +10x++/3 = 0 is equal to

(A) 44 (B) 54

() 64 (D) 7ig s

234 % ITHTST TUIEUE H 3 1 O FT & 7

(), 3 | (B o

© =2 (D

What is the power of 3 in the prime factorisation of 234 ?

(A) 3 (Blsk 4

2 | @ 1

Eg 13 1-(44/50)
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D | s

38. Wﬁaﬁa@?{%@aﬁaﬂ@ﬂﬁmwﬁﬂw~3@2%=ﬁ

EECE
‘[;’—1__},,, x2 +2x—3 (B} x? +3x+2
(C) X3 c— 2 (D) %2 3D

The sum and product of zeroes of a quadratic polynomial are — 3 and

2 respectively. Then the polyﬁc-mial is
(A) Nt A0y 3 (B) %2 +3x+2
€ X" sx-o D) x2—3x+2

39. U Ui A6 9895 SacAl €

A) fEgasges B) e sgus

(C)— HEIR ' D) T W FE A
/’/ }

A polynomial of degree one is called °

(A) quadratic polynomial = (B)  cubic polynomial

(C) linear polynomial (D) none of these

40. ﬁﬁﬁﬂﬁaﬁﬁﬁﬁmww Hod sk 9 &

(A) ax? +bx+c, a#0 (B) ax4+bx3+c,a¢[}

/Lg;”’ ax® + bx? Hextdo a0 (D) Eﬁﬁﬁ%qﬁ

| 2131-(44/50 | Page 18 of 48
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The most general form of the cubic polynomial in the following is

=8
(D |
(A) ax? +bx+c, a%0 (B)
(C) ax® +bx? tex+d, a%0 (D)
Y 41. 2,7,5,3, 8% HeTH &
(A== (B)
3 (©) (D)
The median ofé., 753 85
(A) 2 (B)
(C w5 . | (D)
G gl e i ST 7%6@?&?5%‘
(A) 2 : (B)
: © s 2)
The mode of 7, 2, 5, 7, 7, 3, 7 is
? (A) 2 | (B)
% €]y .5 D)

&t efaRTer 15 - 25 T ot faeT &

(A) 10 B)

i

(C)1 " 30 (D)

a.x4+bx3+0, =0

none of these

20

40

i

2131-(44/50)
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The class mark of the class interval 15 - 25 is
(A) 10 (B) 20

() 30 (D) 40

a4, = STl 2-5,5-8,8- 11, 11 - 14, ... & =00 ! 1S ©

(A) 2 (B) 3

(\) B =t (D) 35

The length of the class intervals of the classes 2 - 5, D=8, 8- 11,
11 - 14, ... is

@ 2 | ® 3

(CIE 2 g (D) 35

45. (sec A—cos A)(cotA+tanA)=

(A) tan A.sin A (B) tan A.sec A
(C) sinA.cot A (D) sec A.sin” A
‘/-’/‘ 1

46. Al TR oHNOR (999 &8 6 GG 6 &, Ol 999 gef 9 o
(A) s} . (B) 9
) 21 D) 15

If the mean of four consecutive odd numbers is 6, then the largest

number is

(A) IS ' | (B} '8 %
3 21 (D) 15
| 213 1-(44/50) | Page 20 of 48




47 .

[210 ]
ﬁﬁﬁa@?qﬁﬁ%ﬁm%maﬁﬁmﬁwaﬁaﬁq ?

(A) T (B)

(C) TRl Ay (D)  TH | W

What should be the length of the classes to calculate the mode from

the formula ?
(A) Equal (B) Unequal

(C) Very large (D) None of these

48. . S SRFEIRAT ST & WA T Sgeth O 28 99T 16 ¥ 6T WA
=41 B ?
(A) 22 . (B) 235
© 24 (D) 245
The mean and mode of a frequency distribution are 28 and 16
respectively. What will be its median ?
(A) 22 (B} 235
(C) 24 (D) L
49, 8in45° tan 45°.sec 45° =
(a) o (Bl 1
(C) 2 CER o~ 2
& [2131-(4a750) Page 21 of 48
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50. ¥ w1 qoi Us3 Bl B
(A nrl (B) nr?h
(C)  mr(r+l) (D) 2=nrh
The total surface area of a cone is
(A) nrl (B) nr® h
(C) nr(r+l) (D) 2nrh
51. UH 9 § 7 oA, 8 8 3R s O%e Te ¥ U g Argesdr Fehrel S
¥ | TO% A oo, T Thg 81 St WItEehdr &
A o= o=
20 _/J'B tw
w3 E
(C) = (D) I
A bag contains 7 red, 8 green and 5 white balls. One ball is taken out
at random. The probability that it is neither red nor white is
Bl 1
A5 5s B) =
2 1
© Z @) %
52 'ﬂrﬁ coaﬁ=—% %, dl sin® =
o= L2
(a) Y4 (B) Yo
b 2 2
(C) - (D) Lgi_
a2
I 2131-(44s50) Page 22 of 48




_ / B2 52 = : b

_Ji—sinA = : ¢ ;

Jl+sinA

- (A) sec A +tan A (B} secA-tanA

 (©)  secA.tanA - (D) sinA
| 54. .1:51130“ sin30° cot60° cosec 30° =

| ; x i 1 5

(A i B 3

e =E 3

E © o i

1:
243

EE’E_-‘_: El‘f\ﬂ' A =45°, dl secA+cosecA T HIT &

(a) 1 B) V2

"

e
ey
e v il

@i o (D) S

B I A= ase , then the value of sec A + cosec A is

a1 ' B) . V2

c) 2 D) 242

[2131-(a4/50) | ' Page 23 of 48




56.

S7.

e ™

(210
Il g4 F1 IATT BT 60° ¥, A 30 M Y SR SET B SAER I9T

AT T HHs &

A) ;j% 2l _(B) 153 T
(C) 3043 H

(D) 15 Hl
If the angle of elevation of the sun is 60°, then the height of the
vertical tower that casts 30 m long shadow is

30
(A) 75 m _ (B) 1543 m

(C) 3043 m (D) 15 m

A€ o =B =30°, Al cos(a+p) H OF S

V3 1
A = o
1
@ = D) 1

If o« =pB=30°, then the value of cos(a+pB) is

@ L3

N3 = 3
= ®
© = D) 1

12131—:44;5-:-1 Page 24 of 48




58. = tﬂl‘l{?ﬂ"
1—tan= 30°

(A) O

cot25°
(A) 0
(C) — 1
- : tanb5° .
The value of eotpEe
(A) O
(C) Sl
60. tan5® % tan 30°x 4 tan85° =
4
A =i
B S
(C = |
S B sin= 37° + sinZ 53° =
(A) 0
(C) el

62, sin2 48° — cos? 422 =H! HI e

(A) 0

)~

(B)

(D)

(B)

(D)

(D)

(B)

(D)

(B)

(D)

(B)
-—""r"//

(D)

o "

443

[ 210 ]

L]
Py R P R T i e R

[E 131-(¢4/50) l
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[210].
The value of sin® 48° — cos? 42“ is
(A) O | 1

Lo Fe s | o) 2

E|'EE’{ tanE1=J§ Eﬂ‘,ﬁ sech ﬁ?[lTFF%

2.
(A) T

(€) o) 2

b f-

If tan 0 = /3 , then the value of sec is

A) ® L

5

(C)

] [

DY o

E2 114 cns&%secﬂz% E:T,t_‘ﬁ cosgﬂnrsecgﬁ:av_[m%

' CX TR | e o 17
(A) il JLB}”’/ 7
29 33
(C) i (B
If cosO +sect = % , then the value of cos® 0+ sec? @ is

(a) = (B
© 2 0 Djb

2131-(a44/50) | ' Page 26 of 48




B | [210 ]
|

65. cosec-57° — tan~ 33° =
(A) 0 /[Eg/l
(C) =k (D) 2

66. cos20°%.s8in 70 4+ 8in20°.cos 70° =
(A) 1 (B) 2
(] (D) =

67, sin38° —cos 52° =

(A) 0 @/ 1

(C) % D)

68. aﬁ?ﬁﬁ?ﬁﬁ?ﬁwmmw%ﬁfﬁﬁq?ﬁﬁﬂﬁﬂﬂqmﬁaﬁ

SHRETI
1
&)= 1=
r) ; 3
() 2= SN, (121

If three coins are tossed simultaneously then the probability of

getting the same outcomes in all three coins 18

(RIS &

A 5

%)
/ D =2
©° = o) R
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69,

70.

7 B8,

qie P{E}:U.GE,#{ P(E'") ST &

(A) 094 (B) 0-95

(€) ©0:03 | (D)  0-05

If P(E)=0-05, then P(E') is equal to

(A) 094 . (B) 095
(@  0:03 | (D) ~ 0-05
sin® 0 —1 bl

cos” 8
(A) sec? 9 - (B) tan? @
(Gl =1 . (DT

—P _ F w9 H 067 F G ST 9ar &

oM L gn
67 67T
(A) B e
20 x5 ijf 22 % 5%
C 6-"? - X g .
(il =L (D) T4 8 iz 98
In the form of —?ﬁ——— , 067 can be written as
DL s S
(A) g‘? (B) sl
D 5 22 5 52
67
(C) %5 . [D] none of these

[210]

FQ 131-(44/50) I
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73.

i

[210]

sin® 0 =
(A) 1-cos®@ (B) cos?0-1

ﬁ/ \J"l—cc:sgﬂ (D) cos®0—1

HHERTOT T 3x—2y+3=0, 4x+3y~-47 =0 T B &

(A) x=1, y=3 (B) x=4, y=>5

©  x=5,y=9 : (D) x=8,y=5

The solution of the pair of equations er —2y+3 = D .
4x+3y—47 =0 1s

(A)  x=1,y=3 : : {B]‘ x=4,y=>5

C) x=5,y=9 (D) x=8,14=50

o gHiER A % T¥H 9 95 FERE (3y-1), (3y+5) T (Sy+1) Tl

y BT A &
(A)) Al s w4
(C) i (D) 2

o

The first three terms of an A.P. are (3y—1), (3y+93) and (5y+1)
respectively. The value of y is
(AR 2 : B) 4

(C) S By =2

[_2 13 l—-:44,rsoﬂ ' i Page 20 of 48




75.

76.

Tife

78.

A.P. 6,9, 12, ... %1 g sty 2
(A) (El e
) e (D)iess 6
The common difference of the A Pa, 10 1 20

(4 3

718

By =3

C) 6 D). 6

sinl0Q° =
(A)  cosl0° (B)  cos80°

(C) sec 80° (D) cosec 80°

8,5,2,..H 4051 y= &

(A)  -107 (B) - 109

(ST ] | S (D)3

The 40th term of 8, 5, 2, ... is |

(Al o (B} =109
ey (D) SE=— 113

A.P. 11,15, 19, ... T BH-G1 92 51 % 2

(A) O (B) 108"

(I (D) 124

[2105

- E_]ia-l-ﬁausm]

S
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79

80.

81.

Which term of A.P. 11, 15, 19, ... is 51 ?

(A)  9th ; {E] P
{C) e 1Yth (D) ' 12th
F=fefes § 9 g o= 71_5 *F WEL & 2

y sin 30° (B) sin 60°

(C) cos 45° (D) cos 60°
2 : : : 1

Which of the following is equal to —— ?

(A} . sin30° A (B) sin 60°

(C) cos 45° - : (ﬁ} cos 60°

.iﬁ“ﬁ* tan® = /3 , @ 0 T T =T &N ?

(A)  90° | 5 (B 45°
(C 30° D 60°
If tan® = +/3 , then w1.1a1: will be the value of 6 ?
(A) 90° ' | (B) 45°

(C) 30° e (D) 60°

42 A =TE ATl I BT GFRA ©

(A) 1286 GHI? | /'{E']I,_J1386 aH?
(€)' = 1486 WHAE D) T ¥ B FH

[210 ]
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82.

83.

[210 ]

The area of a circle of diameter 42 cm is
: 2 2
(A) 1286 cm (B) 1386 cm

(€) 1486 cm” (D) None of these

'ﬁg?ﬁﬁ%ﬁmaﬁaﬂmgmﬁma%,?ﬁaﬁ%wﬁaﬁqﬁm

(A) 3:4 L S v

(C) . 9 (D) 916
wf//lﬁ

The ratio of the radii of two circles is 4 : 3. Then the ratio of their

areas will be
A3 : B) 4:3
(C) 16 : 9 (D} 9 16

afs UF gu F1 SFFa au IRy deeEs ®9 ° SeR §, of 99 &

*

= B
(A) 2 (B) 3
(C) = (D) 5

If the area and perimeter of a circle are numerically equal, then the

diameter of the circle is

(A7 e (B) 3
(C) ° 4 D)y S
I 2131-(44/50) ] Page Sé of 4t_'~'~




84.

85.

86.

tan 30 xsin30° x 3ec60° =

(A) —J%: B 3
:—//
- (©) —% o) 2

- BT e ST 0 Aret Brewrave % a9 S eS¢

2 (5]
(A) aﬁﬁxnr (B) 360 % 2nr
200 g o
(C) IBDxZJ‘:r . (D) Tao <"

[210 ]

The length of the are corresponding to the sector having radius r and

angle 8 is

(=) m . 5]
(A) Sﬁnxnr1 : (B) BEUXEKT
©)  —2_x2nr : (D) Oy nr2
180 180

g (— 2, 5) fory Tty & Rad © 2

(A) e - B) &

© = (D) =¥

In which quadrant is the point ( - 2, 5 ) located ?

(A) First (B) Second

(C) Third (D) Fourth

[_2 1 3 1-(44/850)
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88.

89.

[ 210 ]
y-378T § g (3,4 )W U &
(A) 3 (B S
(C) 0 (D) 7
The distance of the point ( 3, 4 ) from y-axis is
(A) 3 (B) 4

(C) 0 ' R
g afag (-4,-6)F g0 ®

(A) 2413 ; B) 1342

(C) 10 | & (D) 24

The distance of point ( — 4, — 6 ) from the origin is
(a) 2418 B) 1342

() 10 D24

ﬁgaﬁ(-ax,slaﬁ'{{—s_,gﬁia‘laﬁgﬁ%

A) 58 | B) * 58
) 29 @) V29

The distance between the points (4, 5) and (- 3,/2) is

(A) 58 ®) 58
© 29 : D) V29

2131 -(44/50) Page _34 of 48
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- [210 ]
fogatt (-3, 4 ) 3T (7, 8 ) A frem = Y@EUS H TEREE S

Eaer %_
(A) (B, 5] e B) (2,6)
€  (2,4) (D) (3, 1)

The coordinates of the midpoint of the line segment joining the points

(3,4 )and (7, 8) are

Ay (3,5) (B) (2,6)

€ (2,4) (D)  (3,1)

U I hl IR @ BT AT 51 9 ¥, 6 99 ) e
(A) 7 EH | (B) 14 9Hr

© 219t (D) 28 A HT

The sum of the circumference and radius of a circle is 51 cm. Then

the radius of the circle is
(A) 7 cm (B) 14 cm

(C) 21 cm | (D) 28 cm

=

2131-(a4/50) | Page 35 of 48

e e i S

M

- - :_I.T B




92,

-93.

() 10 ®Hl D) g ALl
ntD a cone of height

A sphere of radius 8 cm is melted and recast 1

392 c¢m. The radius of the base of the cone 1S
(A) 2 cm _ (B) < I

() 10 cm (D) none of these

“’%{Wqﬁaﬁw ST S?ﬁaﬁ?atﬁtﬁ Ersaisit aret g @
mﬁ%ﬁ%w%éﬁaﬁ@aﬁrﬁw% |
(A 7o _- . | (B) ok

olieam il R

If the area of a circle is equal to the sum of the areas ﬁf circles of radl

3 cm and 4 cm respectiirgly,-then' thé radius of ’;hat circle is

o (A) _'?' cm : {B] 12 o

(C) _ 5 cm e (D) none of these

B e

Page 36 of 4°
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E [210 ]

94, Wmﬁﬁﬂﬁaacﬁwwa%l.mwm

(A) %a | (B) i_fLag
(o) ©  —=a®

_“ﬁa

A side of an equilateral triangle ABC is a. Its area is

(A) —H“f a {B] ¥3 ;2
4 2 1 2

C =Rl D e

(<) 3 | (D) 5

95. Aacwﬂﬂﬁa@ﬁga%ﬁﬂﬁ £C=90° 2| A5 AC=6 §Hl &, df AB=

(A) 6 9H - (B) 642 HHEI

(C) 246 [t @) a2 =
\_/—'
ABC is an isosceles triangle in which 2C = 90°. If AC = 6 cm, then
A=
(A) 6cm o (B) 642 cm

(€} 2/6 cm ' D) 4VZ cm

-
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B [210 ]

tan® tanf.
e secB—1 secB+1

(A)  2tan6 (B)  2sec@

(C) 2cosecH /E}/]/ 2tan@.sec 6

o7. 5T B O TF 99 % g p W WY W@1 PO H O | S S

uh YT & fag 0 WX 39 ISR ® T 00 = 12 §HI | PO I TS &

(A) 12 9 (B) 13 9HT

(C) 85HH oo D) J1ES GHl

A tangent PQ at a point P of a circle of radius 5 cm me¢ts a line

through the centre O at a point Q such that OQ = 12 cm. Length of

PQis
(A) 12 cm ' (B) 13 cm
(C) 8:5cm L. : (D) V119 cm

08. U THFF l IVTe 0K UL AM ! WfFhal &

(A) O | L@l"/%
() s ; . (D) %
\)

(8 I 2131-(a44/50) | Page 38 of 48



E ; _ [210]
I : The Probability of getting a tail when a coin is tossed is i

(AJE S {B]- :?1..
) STl o

99. ﬂqﬁ-@w'ﬁﬁ;ﬂt{lﬁqﬁ%waﬁﬁﬁwﬁmqﬁ

10 B &t wifaspar &
() vl =) e
© & | D) =

Two dice are thrown simultaneously. The probability that the sum of

the numbers appearing on these dice is 10, is

@)z ® L
Gl i O =
100, sin90°xtan60°xcos '.300 =
V | il v
© %- i (D)o

2131-(44/80) Page 39 of 48




D | | - [210]
wgus - & / SECTION - B

. Y I ‘;I'Ff / Short Answer Type Questions
¥ §ET 1 ¥ Sﬂﬁﬁ‘ﬁgaﬁﬁ#mﬁfﬁﬁ#)‘#ﬁ 15 ToAT & JAv T

T O @ o 2 S frEiRa &1 S~ = 30
Question Nos. 1 to 30 are Short Answer Type Questions. Answer any

15 questions. Each question carries 2 marks. ; 15 x 2 =30

1. A sec4A =cosec(A—20°) 8, SEI 4A =a;=r HI0T ©, T—ﬁ A T =5 T

codl ! _ 2

If sec4A = cosec(A—20°), where 4A is an acute angle, then find the

- value of A.
2 kchaﬁcgﬂlqﬂtﬂﬁﬂﬂﬁﬁ'qfq36ﬁtﬁ% St ST AT T L1 2

If the peri:neter of a semi-circular protractor is 36 cm, then find its

diameter.
ﬁ 2 tE.IlSDO 2 JE i 2
/ 1—Lan 30°
Prove that 2 tan 307 — Jg

1 —tan” 30°

o

FETY TUHES TR 24 AR 36 1 Ho¥o Tl ¢loHo I Y | ,

Find the H.C.F. and L.C.M. of 24 and 36 using prime factorisation.

HHEIOT 2x2 —3x~5 =0 % Hel e &L | | 5

4
5.
/

Find the roots of the equation O%? 3y _5=0 ;

2131-(a4/50) Page 40 of 48




4 a T R T ettt ] B RS

(D | i S (210
6. ;ﬁ%mﬁaﬁqﬁfﬂﬁaﬁ'ﬁmﬁ;?ﬁﬁwmﬁmﬂ“ﬁ*ﬂm
03K _4 ¥ ‘ 2

Find a quadratic polynomial, the sum and product of whose zerces
are 0 and - 4 respectively.

S xRy ﬁwﬁwwmiﬁt%%ﬁp{x y]ﬁiaﬁﬂil 4 )
B(-1,2) ¥ §HSI® &} | 2

Find a relation between x and Yy such that the point Pil. x" 75 1ty
equidistant from the points A ( 1, 4 ) and B( 1,2

8. Wm‘ﬁﬁﬁﬂ"ﬂﬁ(am—a?]—&%% Wﬂﬁmﬁﬁaﬁ[ 2
Find the common difference of an A.P. in which {a21 a-) =84
S— T8 F 5 tan? 0+ cot264 2 = sec? 0.cosec?0., _ 2

Prove that tan=o He cot? @ +2 = sec? f.cosec?0 .

10. qawa@%gp@qaw@ﬁn—s‘wmﬁﬁaﬁ 15 §Ht & au fag
Pﬁ@ﬁ%ﬁﬁ{ﬁi?ﬁﬁ%lﬁﬁﬁﬁwmﬁ| 2

The length of the tangent drawn from an external point Pto a circle is

15 cm and the distance of the point P from the centre of the circle is

17 cm. Find the radius of the circle.

11, U N % IO e e o Rt Ry oo dE g

e

Find the area of a quadrant of a circle whose circumference is 22 cm.
12. 4§ A=90° 9T B=45° &, @t fag =% £

cos(A—B)=cosA.cosB+sinA.sinB. )

2131-(44/50) Page 41 of 48




13.

14.

15.

18.

19.

=)
=i

T

If A= 90° and B = 45°, then prove that

cos(A-B)= cos A.cas B+ sin A.sin b .

framea gHiRUT bx2 +ax+c =0 EI’TTW?ITHEF&|

[210]

: i 2 =0.
Find the discriminant of quadraftic equation bx™ + ax+ ¢

ﬁﬁﬁ%ﬁx=—-3'@ﬁﬁw 2x2+5x—3=ﬂﬂwgﬁ%|

Show that x=— 3 is a solution of equation ng +5x—3=0.

%Elﬁﬂtﬁﬂ?{tﬂ 3x2r4ﬁx+4=0'%-=ﬂ§ﬁa%qq#%$ﬂﬁﬁ-ﬁl 2

//‘ .

Find the mnature of the roots of the quadratic equation

3x2—4J§x+4={}.
T S 7, 13, 19, ... T HIA-G1 IF 205°€ 2

Which term of the A.P. 7, 13, 19, ... is 205 ?

% 7 H S FE RTEE T 2x2 + ke +3 =0 T I Ao s A%

T &

Loy |
L

Find the value of k for which 2x? +is_;x+ 3 =0 has two real and equal

TOOLS.
540413417 +...+81 =l JNTHST I He |

Find the sumof 5+9+13+17 +...+81.

27 YT TEATAT 1 AT 3 ¥ T Sl UEES 504 & @AW 00

& |

| ]

The difference of two positive numbers is 3 and their product is 50%

Fin'd the numbers. .

[2131-(a4/50)
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20,

251

22,

23.

24.

25.

1210]
Y et (25 1), {3n+2] ql (6n —1) FHIAT %ﬁﬁa’rmm
Y | 2
If the numbers (2n~1), (3n+2) and (6n~1) are in A.P., find these
numbers,
Fﬂ&’aﬁﬁﬁﬁaﬁqﬁfﬁmﬁmﬁw%@wwﬁtwwmﬁ@
el =T e €1 : 2

Prove that one and only one-tangent can be drawn to any point on

the circumference of a circle.

ABC TF wARrg/ Bras ¥, Rt wvr ¢ wmer 3 fow =% fe
AB? =2AC2, : - 2

ABC is an isosceles triangle whose angle C is ‘x‘éht angle. Prove that
AB2 —pac?

BT Lt (x+4)(x—4)=20. 2
Solve : {x+4][x—4'j=20.
AABC 31X ADEF 89T € AT §en a1l shHST 54 THT- 997 121 Eepsim

%lzr%jsp=15-4@n°r%a‘r5ca%ﬁm1émaﬁi 2

AABC and ADEF are similar and their areas are respectively 64 cm?2

and 121 cm?. If EF = 15'4 cm, then find the length of BC.

ush AT fordent B 7 O ¥ w5 anges s w5y

]

Find the volume of a sphere whose radius is 7 cm.

[ 2131-(44/50 Page 43 of 48
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20,

P

29.

30.

[210]
freifira aifepet ST W A Y 2
e 3k o) 15 20 25 30 |
ferenfadl Bt "EAT 4 6 3 2 5
Find the mean of the following data :
Marks obtained 10 15 00 25 30
Number of students 4 6 3 2 5

mﬁvﬁmmwmﬁﬂ%ﬁqm (3a)—4a, 3 )<=
(8,6)¢l 2

Find the area of the triangle whose vertces ars (3,4), (—4, 3)and
( 8 , 6 ) respectively.

H'ﬁq[ﬁiaa—;,z—;&afz—;%rwmﬂfr?i%ﬁw% T

3x+12y =5, 2x+8y =7 STH ® |

b

'y

a b c,
By comparing the ratios —L- EJ— and — , find out that the following
SERD > 2

'pair 3}@: $ 12y =5, 2xX+ By =7 is inconsistent.

4% _ar+1 & IFE WA HL TH IS S IR F S FHA

ST Y|

-

3

Find the zeroes of 4tZ —4t +1 and verify the relation between zeroes

and coefficients. ) _
ymamf@mwﬁﬁ%ﬁﬁﬁ?ﬁrﬁﬁéﬁﬁqaﬁ (05, —2)cd
(3,2) 9 g &l |

Find the coordinates of a point on the y-axis which is equidistant.
from the points (- 5, -2 ) and ( 3, 2 ).

E———
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et I "I / Long Answer Type Questions

mﬁwmﬁaaaﬁ%ﬁam%lEﬁﬁﬁﬁ"ﬁ4“’*’f%w§_‘m
T & 0 5 ot Praifa 3

[210 ]

4 x5 =20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any

4 questions. Each question carries 5 marks.

ra

31. Eﬁm%ﬁ@ﬂﬁﬂmw 8x~5y+1=0 UH 2x~y—-3=0 % & FHt &

e

7

4 x5=20

v

2

Using gra]_:::hical method solve the paur of .equations 3x-5y+1=0

and 2x—-y—-3=0.

32. 5oﬁfﬁﬂvﬁﬁwmﬁ%qu‘iwﬁméa’n 5
Divide 50 into two parts so that the sum of their reciprocals is -il'f :

33. THfeifEd se= =t are 31a =53 5

: T 3faTer 5-15 | 1525 | 25-35 | 35-45 |-45-55 | 55.65
ST 6 11 21 23 14 5
Find the mean of the following distribution :

Class-interval 2-15 15-25 | 25-35 35-45 | 45-55 55-65

Frequency 6 11 21 23 14 i3
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34.

35.

36.

[ 210 ]
Wwﬁﬂ@soﬁﬁ@mﬁaﬁquﬂ%%m%l
ﬂﬁﬁﬁ%aﬁam%wﬁggﬂw@ﬁ%ﬁﬁmm
Wson%m@éﬁ%sﬂ&ﬁ%@paﬂmaﬁﬂam%ldﬁ
= S con o p A W & g S A 5
Two poles of equal heights are standing opposite, to each other on

either sides of the road which is 80 m wide. From a point P between

them on the road the angle of elevation of the top of one pole is 60°

and the angle of depression of the point P from the top of another

pole is 30°. Find the height of each pole and distances of the point P
from the poles.

@WW@C@’%WABEE.M, BC = 8 9Hl o=
/B =90°, B AC W @i« BD %1 U D &1 ABCD S UGt @™ #HI

AW T gE TR U Rl i | 5

Draw a right angled triangle ABC in which AB =6 cm, BC =8 cm and
#B = 90°, D is the foot of perpendicular BD from B on AC. Draw

circumecircle of ABCD and draw a tangent from A on this circle.

= 3 HI T TH HAT 14 T T TECE O @81 S e 3Ed Rl g3
ﬁ@.ﬁ@&%mﬁaﬂ?4ﬁiﬁ@wmwmﬁ§qwmﬁ
AT T UL hT STY ST ST & | 36 S bl FElk ;W\ w5

A well ﬁf diameter 3 m is dug 14 m deep. The soil taken out of it has
been spread evenly all around it in the shape of a circular ring of
width 4 m to form ‘an embankment. Find the height of the

embankment,
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38.

[210 ]

5
fog =t tan7°. tan 23° tan60°. tan 67°, tan83° = ﬁ-

Prove that tan7°, tan23°. tan60°. tﬁnﬁ?” tan83° = ‘/_\ ;
Fﬂaaﬁ%%ﬁwﬁﬁ@ﬁ?ﬁﬁ“ﬁ"ﬁmmﬁ%aﬁﬂ
aﬁwwﬁﬁeﬁﬁrﬁaﬁmﬁ%@mwaﬁmmmﬂ

Wﬁﬁr el 5

Prove that the angle between the two tangents drawn from an
external point to a circle is suyptem&ntmy to the angle subtended by

the line segment joining the points of contact at the centre.

)
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